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Consider the following probability distribution of the
random variable .

Find the probability that  is at least 3.

Select one:

a. 0.29

b. 0.27 "

c. 0.33

d. 0.31

!

!
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The correct answer is: 0.27

Let  be a standard normal random variable.
Compute .

Select one:

a. 0.9452

b. 0.8904

c. 0.9641

d. 0.9332

e. 0.9108

f. 0.9282

g. 0.9554

h. 0.8664

#
$ (−1.5

The correct answer is: 0.8664

If A and B are independent events such that P(A 
B) = 0.3700 and P(A  B) = 0.1739. Find P(A).

Select one:

a. 0.3700 "

b. 0.3200

c. 0.2300

d. 0.7300

|
∩

The correct answer is: 0.3700

We want to select 4 employees form a group of 19
employees for a certain project. The selected
employees for the project will be given the following
positions: president, vice-president, adviser, public
relation officer, and budget officer. How many
possible selections do we have?

Select one:

a. 1 820

b. 43 680

c. 3 876

d. 93 024 "

e. 2 380

f. 3 060

g. 57 120

h. 73 440

The correct answer is: 93 024

Let  be the sample space
of an experiment and let , 

, and  be events from .
The probabilities of the sample points are assigned
as follows: , , 

, and . Find .

Select one:

a. 0.80 "

b. 0.70

c. 0.60

d. 0.30

% = { , , , }&1 &2 &3 &4
' = { , }&1 &2

( = { }&3 ) = { , }&3 &4 %

$ ( ) = 0.40&1 $ ( ) = 0.40&2
$ ( ) = 0.10&3 $ ( ) = 0.10&4 $ (')

The correct answer is: 0.80

Consider the following probability distribution of the
random variable .

Find the variance of the random variable .

Select one:

a. 25.10

b. 24.70

c. 26.49 "

d. 25.49

e. 20.69

f. 24.90

g. 24.10

h. 24.41
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The correct answer is: 26.49

Given that  is a standard normal random variable,
compute .

Select one:

a. 0.9192

b. 0.9032 "

c. 0.8849

d. 0.8643

#
$ (# < 1.3)

The correct answer is: 0.9032

Let  be a standard normal random variable. Find 
if the area between 0 and  is 0.0793 and  is
positive.

Select one:

a. 0.20 "

b. 0.30

c. 0.40

d. 0.10

# #
# #

The correct answer is: 0.20

Consider the following probability distribution of the
random variable .

Find P .

Select one:

a. 0.50

b. 0.30

c. 0.40 "

d. 0.60
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The correct answer is: 0.40

Consider a binomial experiment with 5 trials and 
. Find .

Select one:

a. 1.70 "

b. 1.60

c. 1.55

d. 1.65

* = 0.34 &(!)

The correct answer is: 1.70

In Russia, 57 percent of the population use public
transportation. In a sample of 10 individuals, what
is the probability that exactly 5 individuals use
public transportation?

Select one:

a. 0.2229 "

b. 0.1401

c. 0.0604

d. 0.0171

The correct answer is: 0.2229

In a sample of 50 employees, 34 were females, 22
were smokers, and 15 were males and smokers. If
an employee is selected randomly, what is the
probability that the employee is either a female or a
smoker?

Select one:

a. 0.98 "

b. 0.96

c. 0.92

d. 0.94

The correct answer is: 0.98

An experiment with three steps with 3 outcomes
possible for the first step, 15 outcomes possible for
the second step, and 18 outcomes possible for the
third step. How many experimental outcomes exist
for the entire experiment?

Select one:

a. 810

b. 1560

c. 3510

d. 1440

The correct answer is: 810

Let  be a standard normal random variable. Find 
if the area left to  is 0.8264.

Select one:

a. 0.64

b. 0.94 "

c. 0.84

d. 0.74

# #
#

The correct answer is: 0.94

According to the Sleep Foundation, the average
night’s sleep is 6.80 hours. Assume the standard
deviation is 0.50 hours and that the probability
distribution is normal. What is the probability that a
randomly selected person sleeps at least 5.90
hours?

Select one:

a. 0.0668

b. 0.9332

c. 0.9192

d. 0.1587

e. 0.9641 "

f. 0.0808

g. 0.8413

h. 0.0359

The correct answer is: 0.9641

If A is an event such that P(A) = 0.3721. Find the
probability of A complement.

Select one:

a. 0.6279 "

b. 0.7231

c. 0.3721

d. 0.2769

The correct answer is: 0.6279

Given that  is a standard normal random variable,
compute .

Select one:

a. 0.1151

b. 0.0808 "

c. 0.1357

d. 0.0968

#
$ (# > 1.4)

The correct answer is: 0.0808

Consider a binomial experiment with 4 trials and 
. Find .

Select one:

a. 0.2933

b. 0.2745 "

c. 0.2841

d. 0.3021

* = 0.31 $ (! = 2)

The correct answer is: 0.2745

Consider the following probability distribution of the
random variable .

Find P .

Select one:

a. 0.30

b. 0.70

c. 0.51

d. 0.32

e. 0.19

f. 0.38 "

g. 0.11

!

!
"(!)

1
0.11

2
0.19

3
0.32

4
0.38

(3 < ! ≤ 4)

The correct answer is: 0.38

Consider a binomial experiment with 5 trials and 
. Find .

Select one:

a. 1.07

b. 1.11 "

c. 1.09

d. 1.12

* = 0.33 +,-(!)

The correct answer is: 1.11

Given that  is a standard normal random variable,
compute .

Select one:

a. 0.9842

b. 0.9838

c. 0.0158

d. 0.0154 "

e. 0.0166

f. 0.9846

g. 0.0162

h. 0.9834

#
$ (# < −2.16)

The correct answer is: 0.0154

Consider the following probability distribution of the
random variable .

Find the expected value of the random variable .

Select one:

a. 25.49

b. 24.90

c. 20.69

d. 24.10

e. 24.41

f. 25.10 "

g. 24.70

h. 26.49
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The correct answer is: 25.10

Assume that the American worker spends an
average of 77 hours logged on to the Internet while
at work. Assume the times are normally distributed,
and that the standard deviation is 25 hours. A
person is classified as a heavy user if he or she is
in the upper 4 percent of usage. What is the least
number of hours that makes a worker a heavy
user?

Select one:

a. 114

b. 124

c. 120.75 "

d. 110.5

The correct answer is: 120.75

Given that  is a standard normal random variable,
compute .

Select one:

a. 0.9838

b. 0.9834 "

c. 0.0154

d. 0.9842

e. 0.9846

f. 0.0166

g. 0.0162

h. 0.0158

#
$ (# > −2.13)

The correct answer is: 0.9834

#4 $5  

6/9/21, 2:14 PM
Page 1 of 1


